Practice Test 15

Practice Test 15: Choose the answer that is grammatically correct in the context of the sentence. There
is only one correct answer.

. This is the expensive ring in the store.
. much

. more

. Nessuna risposta

most
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. If Sally the flu, she should get plenty of rest.
has

. will have

. would have

. is having

o0 oTON

. If you walked more slowly, | be able to keep up with you.

coopw
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. The next time you arrive late, | for you.
. don’t wait

. not waiting

. won’t wait

. not going to wait
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. Paula: “l enjoy doing volunteer work.” She says that she doing volunteer work.
. enjoying

. enjoys

.’d enjoy

.’lIl enjoy
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. Maria has made progress in English so she’s feeling rather pleased.
. alittle

. not much

no

. a great deal of

Qo0 oToO O™

. I never to exercise regularly when | was young, but now | do.
. was used

used

. didn’t use

. usually
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. Paul’s been working for Ikea last year.
since

by

until

from

20T ®

. Alice: “How long on the ground before the ambulance finally arrived?” Doris: “About half an hour.”
. has Sam lain

. was Sam lying

. had Sam been lying

. has Sam been lying
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10. As a fringe benefit, our son was a company cell phone yesterday.
a. been given

b. given

C. giving

d. gave

11. As a result of the dispute that had arisen between the two countries, a new trade agreement had to
up.

a. be drawing

b. been drawn

c. be drawn

d. draw

12. is my coat over here and the one over there is Mary’s.
a. That

b. This

c. These

d. Those

13. The children go to bed now; they can watch the end of the film.
a. mustn’t

b. don’t have to

c. don’t need

d. haven’t

14. able to run a mile when you were a teenager?
a. Can you

b. Could you

c. Would you

d. Were you

15. Joe’s not at home or at work. It's 8 p.m., so I'm sure he be at the tennis club now.
a. has

b. could

C. must

d. may



